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SECTION—A /3—3% / 3—I¥l / S—aTET / &—WTTT

1. For each question given below, four answers are given. Out of four,
only one answer is correct. Select the correct answer :

©T] 2001 2R BRGNS Ted i Wy | BIRGR foews wrg Wbz we Ted |
W% Ten! AR Tferea -

Aevx 21 oo SR F03 T wew Wiy | BB Rwrm W@ @D WG
Teg | W Teafb @ e -

TERR ATEE GHER B A fam 31 ARaR wrE Aede’ 1E
ﬁﬂmlﬁ%ﬁﬂm@m’mﬁ@a:

= U T 3% W F e ww 3w Re e ) =R Fae o o ad R
H‘zﬁmaﬁgﬁq:

(@) A solution turns red litmus blue. Its pH is likely to be 1
91 TR 8] fAbaRs el 373 | WA pH 2’3 A
9 73 A fEbaPe et 3 3 | @3 pH 2o A
A T Mo ferenma e @ | A pH s gl
13 foeram et forema =) e = 3@ R | 9w pH geEa: @AY
(i) 1 (it) 4
(1i) 5 (iv) 10
(b) An element reacts with oxygen to give a compound with a

high melting point. This compound is also soluble in water.
The element is likely to be 1

9B (TR SREEER e R IR OB e @ Teow 3@ |
CTSITOT “1ATS TN | IR (N 2

g3 (el SRTEeR % R[fEw 3 % B (@9 Seom 3@ |
QeI ST TR | R (TG 2@

AR JlegarEn eSS s i R e @R
ol | @R omE iert | fegarn sy gwi

I3 ATRAH & o AR W 3= e e u df fifl
A1 8| e A o & e} 98 a7 anvEa: F= Q) g 27
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(1) calcium (it) carbon
R I
AN I
FArEm FTe
Ffcram e
(tit) silicon (iv) iron
ffere wf
e SR
Tafeter A
Tt W
(¢) Using Mendeleev’s Periodic Table the formula predicted for
the oxide of element K’ is 1
el orfge o I9zR IR Ay 771 ‘K (o7 SiReor
ALFS A
efTes ifige R 92 F@ Ff Fa K (MR ooy
AT (Al
ARl iR wRETE SEETA ReEE K qRgaR st
RICNIRIBSICIR
A2efis it 2rad GRo 1 ST FF A A fF K * ATEs
TR
(1) KOg (i) K90
(iir) K9O3 (iv) K909
(d) Sphygmomanometer is an instrument which is used to
measure the ___ of a man. 1

RN CHCANDR Ry T, IF TR G IR R |
SRR GF 2R T7 @A T TR S IIZA

A AN
THEm AR TR e SEE At S | I
AEEAE S|
fep e T Y 99 R, Ree s ama % % W % T
fopa S 2
(i) blood pressure (ii) Og level in the blood
IGH (TS Og-3 Tl
Erai! WS 0y~ V@l
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iy IR DRIC] 02 s
TheTd W H Oy & W
(ii) blood sugar level (iv) level of urea in the blood
(TS IR Tl (OETS TR Tl
RRICREZuERE ke e =R 9@
T ¥ W % WR T H gEn & &R
(e) The growth inhibiting hormone found to be present in
plants is 1
Tfgre 21 WW ESRIC R E%pE
Sf¥en el A 25 a?"g@
SARHI TREAREY 574 @I g EI
et A sufer ghy-dus g 3
(1) auxin (it) gibberellin
3= feracafem
S feamafem
AfRE ramferm
AT ISEXRE
(iii) cytokinin (iv) abscisic acid
REVC IR GprRfoe «fbe
STRCBRFE @& SRRA S
QI FEMAA %% wsars s ufire
S IFCAE e vfshfies e

(f/  When two pea plants, one with yellow and round seeds and
the other with green and wrinkled seeds are crossed, the
plants of the Fy generation will be obtained in the ratio of 1
U TR W EAN VS I I W SCEe GO e
CICORT T2 91 &P W09 M=A ofed Were (A IR GOR =W,
cofn Bl e iR R weies R T Hicd 2
@b T ) IR Aw = T @R T TE @ Fee A
T2 341 0 TR MR W T4 TG WA WO @ ey
MRS @ SRS “1ew I3 1o =&
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R T S g A AR SR T e i s gy A
T B X o e S SAWRERE S seen AR S
STEHIER TYAEAE T ST

AR 7R F N el v i 3R e s aen am gew ) e g
STl AT, w1 FE O ST, A 39 Fy, i %t @ e
B
@ 1:1 (@) 1351
(@) 9833 3 : 1 (iv) 10 1% el

(8) Where should an object be placed in front of a convex lens to
get a real image of the size of the object? 1

B A JPRE AR AfSRE AR 205 THRED Ve (TR
TS (FH ETS A7 AR 2
FHREA ST WFCIA RTINS 203 o0 @e (e T
(P BT S =23 ?
T @ S Rpniea 99 gyt AR gan dRea AR gaEH 9]
@ A ?
et o % T TR (WEW) 1 ATt Sffis ww e % for faw
I IqA H & GO HEl W@ AT =07
(i) At infinity

RS

S

EICCIRIPASIERIERIC]

I W
(ii) At the principal focus of the lens

@RI I T IRS

R I TR

AN TR FHREIE

TG % T&I il |
(iii) At twice of the focal length

FPIR rE 8 IO

I CrCi R T

FHE TAATEH TEH TR

HrrE gl AT T W
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(iv) Between the 0
focus
TR AR A Y4 T T A6
CTCAR AP G2 I PRI Y
A=t Anifirs o) T TR AR
o % TR 7 qen T& G ¥ o=
(h) The formation of rainbow :
RS
e
e
T

(1) occurs in the same direction as the Sun
TR 9w firrs 2 =
T @ fics afde =g
AR T femema G
T & Ran § 7 b
(it) occurs in the opposite direction as the Sun
R R e S1f =1
IR ReAS fies sde =0
AR Iod fenama dmfsa
o 1 et e § w7 2

(iit) does not depend on the direction of the Sun
] A evae e Taeq
et Sfqee Terea fréa e =
At oy armE dEm
) foam Pkt 7

(iv) None of the above
8737 WbIS T
TR SIS T
TN AFEET e
I F | g T

ptical center of the lens and its principal

B21-GS/31B [ Contd.



@ )

(1) The SI unit of electric charge is 1
fRpe W ar, w3, @Fe A
Rege sy @1, Wiz, @ =@
LUSSE RIS R ()
ToRIq 3w %1 vH. 1R, A @

(1) coulomb (it) volt
FoTq Saf
T3 oI5
RaNES] Hed
e dree

(iti) watt (iv) joule
arw b
a1 Kl
ar qd
qre S

() Which one of the following is an example of non-conventional

source of energy? il

T (FICH] SRS Nfeq e 2

N (@D FR=HARTS &g T 2

e e S AR wRER G

e & ¥ F-T1 N-TERATG S1-|1 HT T IS 87

(i) Fossil fuels (i1) Thermal power plants

GRPISTS 2F wrfefes *fe oes
GRPIETS 2 wrifefes & o
AT ST faganft met e
Sfraret $e Fofig wifth w9

(iit) Hydropower plants (iv) Solar energy
eI o eaiE iRy
oS 2w chefe
FECRI R T AR wfth
EERUKRE] R S
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SECTION—B/ Y —Slel / 4—>II¥l / @—TeT /[ @—wTT

2. Write the balanced equation for the following chemical reaction : 1
O IPTRIE RIGRIGR A1ca srafere 5Rad B
Tev3 ATt R o srrerey e @i
TR TR R smar Ty @A f
A= & T e sfifen ¥ i e wdEe iR
Hydrogen + Chlorine — Hydrogen chloride
G + F — 3G e #32 ERpE
R + G — PR GRS B4
3133’\_;!? + TE — 313;’31:{ FATTS
TR + FAH — TIESISH FARES
3. Give an example of a metal which is a poor conductor of heat. 1
M9 GO Twrel fir R 1o 3 o@D |
3> 417 TR W8 @ ©eE W ARIR |
g AR R @ s agen fagh @m @
Teh YTg 1 32XV AT St =1 H FATE 2
~ 4. Draw the structure for the compound butanone. ]
7 RS QR S S |
isenciciapiEioenicic il
fozerms @/t qum anfa)
A v i d iR R
5. What is genetic drift? 1
&R “tepre & 2
o s 2 E%;E
R at@raT 7e %ﬁ

Or | 7231/ 53t/ Tar/ sreran

What is variation? 1
fRfSme! 2

ST 1 2

J@men =717

fafreran = 87
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6. What do you mean by least distance of distinct vision? 1

=8 7fq TPeren g A 2
=8 48 e vag W B2
T Juf @wRe s me
GoIE 3R it ereqan g @ =1 Arfmm 87

7. What is a balanced chemical equation? Why should chemical
equations be balanced? 2

gfere IPTfT ARF 5 2 IPTRIAS SRFaerz 5 swfre 3R =i ?
ST AT AR F 2 TIPS ANFIPTLZ (o TSI FACS 2 ?
TG TEEAIR HEYEE W17 TEEETR EUEERE A EHEY
QAR AN
Tgferd T aftee @ 7 TEEte wiwen B g s R/l
IHETH 2?

8. Explain why does an aqueous solution of an acid conduct
electricity. 2

«feT WOR TR waE R Re +f{eza 33, mm 341 |
Gl SIPICes T ¥ @ Rpe #Affes Fca, a4 Fe |
el i nieremaen o MfsE 2?7 9@
3 1 et frerem it foregq 1 e et 2, samen fifs
9. With the help of suitable diagrams, describe the food obtaining
process of amoeba. 2
Toye fBaa e G-I A1 SRee e 3 3w |
Torre foead SR SRR W Srzge aifem 3 e |
AT TEMRA SETSTeETe THET SRR ArsE™ e ad |
3o ot < werdn @ ofien # s wew S i i w1 avi fif
Or | F1&J1/ 931/ war/ sreran
What are the biological catalysts? What is their function? 1+1=2
(o) bR 7 2RI I R 2
&R SEbISE 2 wafm I o
et YeerETEn W17 JeRM e for)
ST ISR 1 7 IR FHE R 27
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10. Name the respiratory pigment present in our blood and state its
function. 1+1=2

IR (TS AF WP Ry [ oy o o) I I@ 741 |

MR & AP APTFNR W (0] 938 O I T AT |

St S giemn frmi=f ge fr w3 e T’ |

TR TR () H I vaw Fuies 1 9 TiRtaw T 9 F[ 1 = Hiise|

Or | 1231/ 921/ var/ srgan

What is ATP? Why it is known as the energy currency for most
cellular processes? 1+1=2

ATP %2 % RA @fRers (@R R e 2 = @ &2
ATP F? «ft @R @fren @R efemm feqm e fRkbe =2
ATPsn 7 3@ frafiafy i R Rt wfn sy far
e S 7
ATP w1 27 siftrrien R St 6 fore 38 i g 0 s T 27

11. With a neat labelled diagram, describe a nerve cell. 1+1=2
o1 ~RzR ffEs Baa s=re FLeE @OR 36 791 |
g3 ~RFR s Brar TRy 9 JRLIICET 36 1S |
AR A RfFEAm g denmeE framiets A se@a)
T G IR A ) TEEd @ e FifkE & v Hiie)

Or / 1831/ 9§31/ gar/ srerar

Describe a reflex arc. 2
ooy 4 @B 39T A |
G5 2ol g A1 TS |
T T e AR Al
wiad =9 =1 v AT

12. How does a unisexual flower differ from a bisexual flower? Give
one example each for both the types. 1+1=2
GERRA T (T TSHERA TSE (0 ? [RRGE i
TR fedn |
aferer ool FOR TS LR (NP JRF? TR AR D K WA 1 |
e framan TER A-mAR ARy seen? AEAE Reed R A
wferft qe e Svafert I § 1 3R &2 AT % Y Th-T e i
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Or | &1/ &eq1/ war/ areram

Give the names of two agents that help in cross-pollination.
How do a seed and a fruit develop? 1+1=2

TSI RN WBTS STy 391 IS WA AN Bl | b1 A& G 1 o
Rt @ewea w6 2

XTI BS STzRy 771 FRE AT A o4 | s Vo @3 a3
RIGERSRNES e Riak

mmmmmmmgmmwmm
ozt s aEl s

TR § e <) aTesht % 0 RiRa | u s 3 v v w1 R e
YR Bra1 2 7

13. Find the focal length of a convex mirror whose radius of curvature
is 30 cm. 2

30 cm ST& TP TT WL 9G¥ F IR 07 el 54 |

30 cm S1& P G T&A 7R @FRPT o7 fefy el |

30 cm TN FEIEHT THI ARAT TN '@ STHoEE Req |

34 Iqa YU il B g F1a I, Freeh asrar-Brea 30 em B

14. How much work is done in moving a charge of 5 C across two
points having a potential difference of 10 V ? 2

10 V Red (o 451 RYE e 5 C o sifere 3cdics R 3 39
15 2

10 V Rs3 oo vft R@ w4 e 5 C o vifere Face 3 i 30
23 ?

10 V g@ify BRe 9@ JH B N 5 ¢ we g S| e
HIGATTA?

10 V fvarr & @ forgatt & 9 5 C amdw =) @ 9 A fram w9 R
T 87
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15. Why do two magnetic lines of force not intersect each other? 2
YO (BIFe @I 6y oo B 19 2
B
T B AN (@ ~orm I 97 A 2 5@@
< g Wi g T e T g

3 T AT Th-gE ) whrede b A 7

16. Give any two ways in which biodegradable substances would affect
the environment. 2

8l P9 TR ARere dom (oRR *[T 151 STeRAR R B |
&R AR 1 <RI 2TR TS A1 9T 7B TORAR R i |
SR dam fresr smeEm Tem @ T 3R @ T Ry

1 ¥ A 7% garee R 3 il vae st 9 e 0

17. State the different trophic levels of a food chain with examples. 2

B
51 < e R R woTes R Srreaepr By | g&

6 4 *R4ee Riew MM wrmrer Rcy Saerte e |

mww@wmwmmmﬁm
fafsr)

AR Faer < fafvm aet Wi A 32w wfva wwE
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18. A metal compound A reacts with dilute hydrochloric acid to
produce a gas which extinguishes a burning candle. Identify the
gas produced. If calcium chloride is one of the products formed in
the above reaction, then name the metal compound A and write the
balanced chemical equation for the reaction. 3

Bl 4TST (o1 A o1 2Ry'F T «fRed Ge Rigm FR @B1 o Teom 43,
R =B o wfey = N TRE | @ TeoE @RI (TG S
Rfgmbre Teom @m @b @1 @EREN AT 2 red (A5 A3 X
for=n o RfEacem swfre armfe SREE! B |

3 41S7 Q3| A Y GRS P Fex RfeFm g @b 0P S
IR @b 93 o @RS S o | Teom 2&q PG Fe FCA |
RFaitce Seom zem @3 @9 FEPHE @ERET 207 197 (@5 A-F TH
coTedl @22 RfGfa e apmie AReaef e |

ugf @R A =1 3 e T R wRisst e SR A e dEteE
T3 TG AT gEE T W SR @R | e g @7 feeeEaE
T TY ER Faiem 59 Tse SHea agi @) A 7 g fw s m
Tepremamsty Tamg TaEAR geEeTE for)

15 uig Dk A 7 TEgEiE 0 & o AR R T T 3= FA
2, S o AHEd ) gen St R 3@ 3 W Fi vewn A 3Rk =@
il 3 3w D § A & Howaw FEREe 2, @ uig A A F AW
FaTeU a97 38 AN & foru wgfera Tt wie fafe)

Or / 7231/ 9%t/ var/ rgan

What is acid rain? How does it affect our aquatic life? 1+2=3

ofes 7991 2 2 WA w8 8 (aquatic life)d $US (R ASK
AR 33?2

w1 3B R 2 @b TR weoTE ST Toea FewA goR RER IR 2

wfe s 71?7 99 i 2 fesnierfy @ wEr Tem g ?
acfig ot @ 27 9 TR S ShaufEl B e ® R o
grerdt 87
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19. If about 3 mL of sodium sulphate solution is mixed with about
3 mL of barium chloride solution, a white insoluble substance is
produced.

T 3 mL T RN RECFHR ¥ @Bl 3 mL T\ @R 3741201 ad TS
fzramr =, (o3 9B 39 SuEy o Teom = |

T 3 mL ARICE IS et @3 w1 8 mL @Raw @RS 9@@
e e 2w, o= «3fb M ww@Ry o Seom = |

g 3 mL wm @'feam weel it W 3 mL % A wruseh
AT AR T, 3fsell FAQ TR Ay Jan Wi |

IR WM 3 mL Wkaw wehe & fead A @M 3 mL Ifaw FEREe &
Toreram < wry fireman S R, @) u we stgereie s e da R

(@) Write the chemical equation of the above reaction. 1
8913 RIFACER IPmf SRNFaechT fora |
Toicew Rfeafba aemfae sRiwaf® @i |
M s TamEA gEmeEE for)
Iqtren fwfshan & for Trmafaes adie fafa)

(b) What is the white insoluble substance produced in the above
reaction? 1
8o Y RGOS Teom (=1 390 @Ry =milch! & 2
T Ridrmfoce Teom zeq I wwRy b F 2
e fenaTgarE |misEm g ity garn @?

IRIE AR § I0A The g vard @ 27
(¢) To which type of chemical reaction does it belong? 1

@2 RfFAH 7 2R3 Ivme Riewr wwefe 2
2 R @@= 2R PR Rigws s@sfe 2

A frenemgan W A@mt EAsemE?
T s fra s it Tamfie stfvfsean & srfa ot 87
Or | 331/ 531/ var/ srgar

What are oxidation and reduction reactions? Explain with examples. 3

wRe W RERe Riwaar &2 T e 3ok fo |
e = R RidFmat § 2 Trzaepr IR @
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srfRreTE Y AR fesmarger w17 RSt seem for |
IquEA 3R s arffrard @ §7 Seww wfta smen A

/20. What was the basis of arrangement of elements in Mendeleev’s
Periodic Table? Besides gallium, what other elements have since
been discovered that were left by Mendeleev in his Periodic Table?

1+2=3
afres Rige frTs @eERs [ fofee R t2few 7 cifemRs Sifke
- (B (oA A (MFRD WRFE @RA R (efeis 969
iferre of2 MR ¢ o 2
@efie /e R (eskie [ ffece seme 2t 2 s
ToI8 S (I (eI SRER RETR R (afers SR ofrce ¥ ol
forcafes
FRRMA iR wiResEE JRyeRE Wi wEE fam @esEe
AN SREA? AREmi ST [EF e W JREATeRN  qE
TRyaera gt R afawen fuf wfemsaE S e
M7
Al Y 3ad aroft § et e uR W mafem R e an? Afeem
¥ ol FH-F A dwl &1 91 gen & e o aeeds 3 @t wE s
e an?

Or | 91231/ ©i*31/ var/ srgar

What is the need to classify the elements? Mention the limitations
of Newlands’ law of octaves. 1+2=3

@ERE  clRees R dEEAmel 7 flrierd W8 @
SrREeICId TrEy 9 |

AeshR cffReE R JEmAEel o M- w8 Spaw
SrRmelsfs Ta FC |

TRgETEE qrEEAER TR W7 Recvefy sew @l S m
o 7 |

Ft % o H ;N AAERA 27 YIgH F 3EH gl hl e B
ferfae |
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21. In the following table, some groups of three elements arranged
downwards in order of increasing atomic masses are given. Find
out which of these groups form Dobereiner triads.

Group A |Atomic Group B |Atomic |Group C|Atomic
Mass Mass Mass
N 14-0 Ca 40-1 Cl 355
R 31-0 Sr 87-6 Br 79-9

As 74-9 Ba 137-3 I 126-9

wmﬁww%w%wwﬁm,%ﬁﬁm
CFRR (o1 Rl 020r | (MBRRA @RS (oD ©'are GRS o197

I efg a1
CMA  |MREIRACIEB | o9 e C [ =rasrafae]
o9 &g ©9 | EZpE
N 140 | Ca 401 Cl 355 %@
P 310 Sr 87-6 Br 79-9
As 749 | Ba | 1373 I 126:9

e eifefoce foafs (Mo saeh ot men e Ciekice ARaaRe
oA Ifodey FwaTice e | efieRE W @RSt (CRIEEAR FES
o IR Refg can |

CMA | TRMIRAAT B | ek | C | rwmaie
Exd g q
N 14-0 Ca 40-1 Cl 355
P 31-0 Sr 87-6 Br 79-9
As 74-9 Ba 137-3 I 126-9

TR AHEE T TR SR | EHETHRA T TS S ARARA A

wmfsErel fog | 2%5;

g A &< B|T=/ER (& C | TRTEm-R
TR Rl kit
N 14-0 Ca 40-1 Cl 355
P 31-0 Sr 87:6 Br | 799
As 749 | Ba | 1373 I 126-9
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7wl 3 7 T F o wg ) v e ¥ od A e A
ﬁaﬂxm@aﬁmwﬁwmﬁssﬁﬁmmwmw

AT 2
YA | wHYy | @EB | WA | a5 C | A
T T FT9H
N 14-0 Ca 40-1 Cl 355
P 31-0 Sr 87-6 Br 79-9
5 - AS 74-9 Ba 137-3 1 126-9

22. Which is the main thinking part of the brain? How can any smell
be detected? 1+2=3

MR [ Be-STR 1 @RBI? R @I o Qe ey sl
] T 2

TR T BI1-STR W A 2 @ @A 7w Frow Fefy w0 w2
HAR(A RT3 VT SRS WIS ? STERasan M) TEk SeEr geh?

wiETss F FH-T1 AT GEAd: A W aia Brns #Y e 27 & R
TY FT qd1 FQ AIaT 87

Or | &1/ 993/ var/ syerar

How does leaf movement of the sensitive plants differ from the
shoot movement towards light? 3

frgam eI B ST B ofREBAD! e FeR I wq1o
(=] fPre oS 1 ARTBACR TR onefy 2

ICEFB I ST “TOR BT LB 32 IR @I e paia
R fice ofe a1 AReeaa ey Nl § o

ARH TR fae' R wraar=E aEk SR e ?

egs wreat i ufaat $i fd, TH i wWie A R A frg vew fm 27
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3. What is a placenta? What functions does it perform? 1+2=3

N3 CRTHDT R 2 X R I 7o w03 2
S AT AT 2 afs F R I o 77 2
W@Tmm?ﬁmmmuﬁﬁ?
T R RY A8 - 1 e o 27

Or | 71231/ %1%y / var/ 3=

What is germination? From which part of the seed do the future
shoot and root develop? Which part of it stores food? 1+1+1=3

ST 2 A B @ o o SRS I1e e sRyey e Rk
R WR @ N 4 ey FR A0 2

IERT 2 Gl e @R 7 (T SRS Fo <2 SRS FS
R =2 9 @ Tt 4 e w7 AR 2

TS SEET /? IR AR T @RReE 3 R oW 3 A9 SeEe?
A 99 TR R S GIAHA AR

PN A1 2?7 A o FhE 9w A 9 R 7o Wi S el B 87 o
fora w1 # @ wue g 27

24. How many pairs of sex chromosomes are contained by the human
beings? How is the sex of an offspring determined in human?

1+2=3
TR (FRER (O TS 2 I ? TR CFIS PR RS @ewed
R 31 2w 2
TE F© (&0 @9 FEACEN > IW@? TR CFE W o Po@
e v = 2
ARG THed i S A 3¢ IR SeEE el ke gEk
QIATHA™ S
wrEt § fhan fom o F 7w A 87 wee § a= w fom-Rako ) da 27

Or | &1/ 931/ war/ sroar

What are acquired and inherited traits? Explain. 3
Hiftfe o IR @R & 2 I 41 |
SRS G ILTFFRD SRR H 2 Y A |

R AR BN ARRHAE @B w17 @q |
TR eifvreeor 3R SegTa stfvaE @ e #7 saren i
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25. What do you mean by an electric circuit? Draw an electric circuit
comprising of a cell, an electric bulb, an ammeter and a plug key.

1+2=3

e T8 A R @ @, @pfed 1w, offtR e A gk o

b1 LAPReT I$AR fog wigew 741 |

i IEA TS B @A 2 @, [@PFF W, TREGH @) 2ol BIiPR

@3 (AT T$NT B st e |

iR wigar BFeen W gRr? e, Afem e, wer e m
BHSEAE A9E WifeE giaaei gEmi e |

Torega wfaw =1 70 ond 27 v ¥, o foregq 7o, T Ul 7o T T
Y fer A T g Titoy 1 s SR

Or / 71331/ 93/ war/ srgan
State Ohm’s law. Draw V-I graph for nichrome wire.
R SACO! o1 | AN SR V-I o4 S5 1 |
-3 @b (N | AREH O V- @ oy e |
s @rfrE for | fisem arf V-1 -\t snfa )
3w & A 0 27 g aR & e VoI are s=Euy

26. Two circular coils A and B are placed close to each other. If

LIS

Fh

1+2=3

the

current in the coil A is changed, will some current be induced in

the coil B? Give reasons.

1+2=3

wwfgﬁAwBWm-ﬁmwmuAf@%m

TS 2’731 B AIS 2[R IR 2’0 2 IR wexf |

7 IO O A GR B RR IR T @R | A F9RTS 2/

o/fRE ZF B FACS 212 WE =3I § 2 I| (718 |

T R W@ A FR B @ MESE @iy @i e w6t A YeEaty

<ERE! A S B 6@ QHd SRR QFAH W17 SeE 2

A FAHR Feferdl A T B TH-R & Fe g §) aR greeht A F Rregmum

% g aReda H, @ 70 Feodl B # F fegqum e 2vft? sror Rk
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Or | 712331/ 5%y / war/ srgar

An electron enters a magnetic field at right angles to it as shown in
the figure below. What will be the direction of force acting on the
electron? Justify your answer. 1+2=3

B XA O P oS B0 (IR WA ISE A IR
XCETETDR &S T 01 <o it 5 7' 2 Ta<q qiefon el 1 |

aﬁWaﬁmmmmﬂmwﬁwmml
XA B o 71 qom oy B 20 2 Taww qeiefel Mefd I |

amiETe RfFeAE afed A Een A ges e ot e
TATLA WA ST WeTsr A fm 71 smie? et o R |

2 o A awie srger A e Bl e A 8 % oeEq TN
AT 8| TAFA R A act A R =1 27 37 3w ) qenefan sqEe)

meiE
\ B
2 =
g Magnetic field / P3¢ (%4 /
>  PEeC¥a/ g gifer /

g &
v
Electron / 213/ ¥Ceig / §9g4 / 97219

27. A person cannot see nearby objects distinctly but can see distant
objects clearly. What could be the defect the person is suffering
from? Draw a ray diagram correcting the defect. 1+2=3

& TC2 S5 IFEAR =ABLE (71 IO 7 4 TR SRS (Rl o |
TrReea RPRCE R 27 A 2 RPRGR <o @i 3 g s w1 |

GG TR A &P =B (e o A 7% e e e 3
T A | TR Rl =S w2 Rerfa swenEm ol 7t g
& FCA |
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mmwmmm@,mmmm@mw

mﬁ:ﬁgmmaﬁgﬁ?égm@mwmfmmﬂ
a1fRa |

@w%ﬁmﬁaaaﬁaﬁwqﬁ%@m,mqﬁmsﬁaﬁw
%@m%l%wﬁsmaﬁz—m%tﬁ%ﬁ%?mawﬁmﬁmmﬂw
form @ =Y

Or /| 7%31/ 91/ Tar/ 3gar

Sunlight is made up of seven colours. To prove this idea by Newton,
explain the recombination of the spectrum of white light by
drawing a ray diagram. 1+2=3

R (=R SATeB! IS sifPe | fAITHTR B YIRAICE! 21 FfRACE I (RIS
AR = AT A o T I AT 4 |

St el el Jes aifde | fAThe @ qReNf 2 PR T A AR
AR ISR A o W% ¢ 11 A |

gty |9 AEE TEf wuE) FeEl 8 gEEEEE BRAE @ 9
FRifY TEHTETE FASTEEAE U AR e S |

@mmmtﬁém%m@ﬁmmaﬁﬁmaﬁ#ﬁmﬁam
F T F [AE R sma g e Hif

928. What is solar cell panel? What are the advantages associated with
solar cells? 1+2=3

4R @R TA% %2 G (W I8 SJRypigz & 2
G @R Foie N 27 G (PR IIAEH RAR F 2
TR ¥ W W17 GAR U AEEAR RS TIEgHRT 61 1Y

28R e A7 1 27 R A F TR hit glyurd wn-an €7
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29. (@) Define malleability.
TP MSRANSR Siear fBre |
IS4 SRATSR <@ (@0 |

UG e gwRR 8 |
ImaTEaYdar $ it faRan)

/ (b) What is allotrope? Write the two allotropes of carbon. 2
=g & 2 R 323 O AW fora |
e P 2 IR > IZEA-GR AN AT |
HELE13T W7 FEAA Hewa oA g fer
FTETS F1 R FE & Q) ITEGH] % AW fARag|

(c) Explain amphoteric oxides with examples. 2

THZANR O T SHET A1 4 |

Trzaerz TedT SHRT AT FAl |

faffRt o= i sresef s@afy )

wgudi sfaaTsel 1 IaTEw |ied sren Hif |
Or | 71&31/ 537/ var/ sraar

(a) Which gas is produced when dilute hydrochloric acid is added
to a reactive metal? 1

51 S a7y 2Ry Re afge a3 ¥ oo Teom = 2

G A AT TXYRIRE SIS (191 FC PR S0PT BRof =3 2
AR T UTgeTTE ST TEg e o TS JSTe ST A A W ¢
s sfufranfia urg % WY 03 TR I H HER ® -
g I B R 7
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(b) Write the chemical equations for the following reactions : 2

o RfeFIcaa At s B -
e Rfewmeln apme s @ :
e ResnaeeRy TR wwEe R
=t srfwfrnait % fore wramarfies afeon R -
(1) Reaction of iron with steam

GEAR AR Ao Sz R

GEW AT K (A= RE

ERCLAE RINERETS (DI

HT9 % |1 A () < afvfsean
(it) Reaction of calcium with water

AR Fore (Farfeaa R

e S e R

St Ferfaam e

A % A1y Hicaaw A il

() What happens when zinc is added to a solution of iron(II)
sulphate? Write the chemical reaction that takes place. 2

wizaw (1) Toces e R a9 fiea & 96 2 kafbe czan v
RfeFacs foran |

SR(I) STeTeEs w3 e 419 fice § w6 2 vicwibe zem apmA
fRferf e

forpat ERA(II) we%e e BRUse W W SmREE
AT e for

i # AEA(I) Tohe & e & ser ¥ w0 e 27 e
Trarafie i fafew)
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Mention two properties of carbon which lead to the huge
number of carbon compounds.

PR D1 467 AR T A (@ (oA T, G o 71 S 9

TR @ o 4R e e I (e N T, T o 7S TeEd KA

FETH T A R arEw Te FEE @R A 9, 3 9

e T |

@%ﬂmﬁw—ﬁ%,ﬁﬁmmmﬁwmm
?

Write the reaction when ethanol is heated with alkaline
KMnOy4 solution. Name the product of this reaction.

WA FRIW KMnO,43 Oe ey i wewioe R R
fern 1 % Rigrmr Rigmeme mbr T o |
WHAF FRIW KMnO,4-«R 3% Tey 337 eafbe zeq Rfewfd
e | @2 Rfgnfoa Rfgmere smefba = @

IFTE @reait KMnO4Si $g@E smfsam fesnamsa fom 3
et fsmen gara for)

TyETa F AR KMnOy4 faegs & a9 m @ @ 2 aeh sifvfen =
foRau ) a0 wifuferan % 3ear 1 am fafiag)

(c) Draw the electron dot structures of the following :
e AT Yeetg g o i e
e afer 2rega 2y o i %@
TErTE BAIER TaEA 6 W1 g i
= ) e fag v fafia Hifso .

(i) Propanol (1t) Propyne
& #f1e g |
ceeTeE (#ali| LT
MR IEC W
e ST
B21-GS/31B
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Or | 71231/ g1t/ war/ srgan
(@) What are unsaturated carbon compounds? 1
SPRYE A QAR 5 2
SRS I Qi F o
TSR el DT 717
STEGH FTeA A = B

(b) A mixture of oxygen and ethyne is burnt for welding of iron.
Explain why a mixture of ethyne and air is not used. 2

@E (&R 7 STRe (welding) SRCES WF 2RE =RA I A |
32Bq A5 Iy W AR 1 T, TR A |

Bl (STl (weqd SN (welding) ST W3R 3RS weH T A |
AR SCF A (A T FA R AL, 10T FCAT

FfRgSA TR AT 15! Seg BHEH AR e S| 39T
R SRA & 9TEE W STEREE S|

A ¥ afeen % o ArRfsm qon 39 % fyor &1 <& fohan s @)
e $ife f Fbi gure 3R A % fson  w@ 1€ e st R)

(¢) Write the structures of the two structural isomers for butane
and give their names. ;

RTCHa 5101 ST o oo S Prees = B |
RATCHCA NI A A 50 «R] (Tesfera W (o |
Al TE Sty A TR AR S| § fw)

= 3 A TSI FHTA! T e 3% i R
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31. Why do organisms require food? In what form and where do the
food substances that we consume get stored ultimately in our body?
What are the different ways in which glucose is oxidized to provide
energy in various organisms? 1+Y4+Y4+3=5
IR MR ¥ e 2 Wi (A@ EER SRewe & S e
TR AT 3 s zte 2 M @I @R o Rfvw Sacae & R
QT (e Af TR 7 3 T WA GG ?

BAOR AR AWEH (@ W2 SN WG qaEel SR =R
SR FwCe @R @E P Tes =m0« ase crear sy Riew
IR 0 N N fow w afemm 7@ Jrawes wiE@e wh 2

FaerE 3merf Ty S 7A? S SEE SRR SEdREAEE q1 TEE
AR A AR s s SE? wfte s o T fSEwrE =11 A 797
A HEEIST e S fRSTEAE S

et N e F ST 7 TUR g @A T MieE 3fd: TR IR A fRe ¥
¥ qon frg s & dfa Q@ 27 S & atade @ fim Sfd § 9w
F & fafirs gy w0 87

Or / 7231/ 931/ var/ srgar

Draw a neat labelled diagram of a longitudinal section of the
human heart and show the course of blood flows through it with
arrow marks, and describe the course of blood flow very briefly.
State the importance of the valves present in between the auricles
and ventricles. 2+2+1=5
TR Zefled «fb -fAgR fofEe i =R e we I o5 7= R
TEE 223 (@A 96 2[R i (ryea o 1@ o[ e «ft oy R
fox | SfeM W@ FeR TSR IR 8FG TS 341 |

Teea ZefPred @i “ffagr PfFe trdicerr &R i @3k 53 B @ @3
Ty ficy R3S 26 TG 2RI WS (I8 R TS AR S
GfS e Rage we | Sferw @R R T bl %Y IS 3@ |
TR gt A e R wre e wETR i A e Ryt Af
et At & Tert e R e & qrrf R Tt TR ae) o
SR SFf R e e |

e €ed & e HIE G F TH WE ARG 0 TR a0 I
TeE ) dR fag ¥ w1 sy R Hyl w9 A T F 9wE w1 Iy way F oy
it | atfére au frem & = ferq e =1 wew =1 Hifsig)
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2. A convex mirror ugeq for rear view of a car has a radius of
Qurvature of 2 metre. If a truck is located at 15 metre from this
- murror, find the Position, nature and size of the image. 5
| A TE TR IR (o1 S e 1 T 2 RO | TR 2T
15ﬁﬁﬁwwmawﬁﬁﬁm,ﬁ§%mwﬁ‘fnw1

G QBT O Pl o Tt wofeer Sw pT 2 RO | Tl (X
15 iR e 419 3l G fofice ¥, o @@ e et 9 |
a2 fer) g R g i sREE 15 feR TR SR
R SR 3Teel WrREfy o, TG IR FrERE At g |

TF 16T 019 F1 399 3@ ¥ g s5am @ 9t e adu st ashar- B

2 WX R AR TF 7% @ i A 15 fw D @ W B, @ gRR= B R,
T q°T AHR (A1E) F1 |

Or | 1291/ 531/ war/ sreram

We wish to obtain an erect image of an object using a concave
mirror of focal length 20 cm. What should be the range of distance
of the object from the mirror? What is the nature of the image? Is
the image larger or smaller than the object? Draw a ray diagram to
show the image formation. 5
20 cm ¥F'IR T HASA A @ IRTR IR W RS @B Ry
of SRy o REIRCR | MR [ THRE e oo Ry @ e 9
AfeRTe 2l & 2737 AfSRTT FFRESLs T (7 31% 2 ART 1 B
3 foq g <41 |
20 cm CFIFMT (AR G0 TS ol IR I A G AHRE Q0]
ofefRy core vfa 1wl (F TR R R Fo z6q BhHw o
ofefirga ogfe F = AR TERRED (3w T 2@ T @b =@ 0
ofSRrafs s1oca @3> A B o= I |
" TAATEA @ T TR GRS S AR

;%ém%mmu AEAREE AR G e ﬁ?ﬁmmwm
FrRrERY RgIET 1 ! GG ASRgatgs 2RE T Rt At
S kcaieicl o A

FHd gt & TH AFad 1 W
gigﬁ%:amaﬁm ?lég | fa@ # <0 4 7@ F WRw (range) Wﬁ@ammargqq?‘

Rfirm 6 vt 3 R7 sfafem, 79 2 991 R st st ww fufy § shife
T 1 T FoR0T 3@ FRY

* k%
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